
MODEL QUESTION PAPER (CLASS 3) 

WRITING 

A. Write a paragraph with the help of the points given 

below: 

1. My first day in school 

When did you join this school – how was that day – how 

were the teachers- how were the classmates -- did you 

love that day  

 

2. My favourite season 

Which is your favourite season – why is it your favourite – 

what special things do you do – what is your favourite fruit 

from that season. 

 

3. A visit to the zoo 

When did you go to the zoo – what did you see there – 

with whom did you go – how was your visit—what did you 

enjoy the most- will you go there again 

 

4. Computer  

How does a computer look—what are its important 

parts—what things can we do on it—what are its 

advantages and disadvantages- how is it useful 

 



5. The Earth 

How many planets are there in the solar system— which 

planet do we live on—what is its satellite called—how 

should we protect it- why is it special 

 

 

B. Write a story with the help of the given points. Also 

provide a suitable title. 

 

6. Man had a goose- laid a golden egg daily- man became 

greedy- tore open the goose’s stomach- goose died- man 

could not become rich 

7. Crow thirsty in summer-cannot find water to drink-sees 

one pitcher with little water- also sees pebbles- drops the 

pebbles in pitcher- happily drinks water  

8. Hare and tortoise decide to race- hare is faster- tortoise 

walks very slowly- hare is overconfident- takes rest- 

tortoise crosses him- wins the race 

9. A dove was flying- an ant fell into water- dove wanted to 

help- plucked a leaf- held out to the ant- ant was safe- 

became good friends.           

                                                                 

GRAMMAR 

C. Underline the common noun and circle the proper noun. 



10. The teacher lives in  

11.                    is a naughty cat. 

 

D. Change the following nouns into their plural forms. 

12. The bunny hopped in the valley. 

 The bunnies hopped in the valleys.  

13. The wolf may attack the sheep. 

 The wolves may attack the sheep. 

 

E. Identify the countable nouns and the uncountable nouns. 

14. The boys(C) drink a lot of water (UC). 

15. Two cups(C) of milk (UC) are sufficient for this recipe. 

 

F. Write the opposite gender of the following nouns. 

16. Bridegroom- Bride 17. Vixen- fox 

 

G. Use collective nouns to fill in the blanks. 

18. A galaxy/constellation of stars is shining bright in the 

sky. 

19. I saw a host of sparrows sitting on our rooftop. 

20. A cluster of trees look very beautiful. 

 

H. Use ‘of’ to change the following words with –‘s. 

21. The duck’s beak 

 The beak of the duck 

Kolkata. 

 Daisy

y 



22. The umbrella’s size 

 The size of the umbrella 

23. The book’s chapter 

 The chapter of the book 

 

I. Use a/an correctly in the blanks below. 

24. A one way road 

25. An heiress 

26. An umbrella 

 

J. Fill in the blanks with pronouns in place of the nouns 

given in the brackets. 

27. William loves to eat ice- cream. He (William) also likes 

 eat chocolates. 

28. My brothers will come tomorrow. I will tie them (my 

 brothers) rakhi. 

29. Suresh and Naina have boarded the flight. They 

(Suresh and Naina) will reach soon. 

 

LITERATURE 

 

30. Answer the following question with the help of the 

given extract. 

“I don’t want a new dress” 



a. Where is the above quoted line taken from? 

-The above quoted line is taken from the story ‘Nina and 

the baby sparrows’. 

b. Who is the speaker of this line? 

- Nina is the speaker of this line. 

c. Why did the speaker say this? 

- Nina said this because she was sad for the baby 

sparrows. 

d. Write the antonym of ‘new’. 

- The antonym of ‘new’ is ‘old’. 

 

31. Answer the following question with the help of the 

given extract. 

“Why don’t you tell me what’s bothering you”? 

a. Where is the above quoted line taken from? 

-The above quoted line is taken from the story ‘Nina and 

the baby sparrows’. 

b. Who is the speaker here? 

- Nina’s mother is the speaker here. 

c. Who was bothered? 

- Nina was bothered. 

 

32. Who has written the story ‘Nina and the baby 

 sparrows’? 



- Pratibha Nath has written the story ‘Nina and the 

baby sparrows’. 

33. How is the acorn sinking into the mossy bed? 

-   The acorn is slowly sinking into the mossy bed. 

34. Name any two describing words from the poem ‘Little 

 by Little’. 

- Two describing words from the poem ‘Little by Little’ 

are- mossy and thread- like. 

35. How did the little fish escape from the net? 

- As the net was drawn out of the water into the 

sunlight, the little fish wriggled through the meshes 

and escaped into the water. 

36. How many freight cars are mentioned in the poem 

 ‘Trains’? 

- Thousands of freight cars are mentioned in the poem 

‘Trains’. 

37. Where do the trains run? 

- The trains run over the mountains, the plains and the 

rivers. 

38. What made the little fish sad? 

- The little fish was sad due to his small size. 

39. Why was there great joy in Nina’s house? 

- There was great joy in Nina’s house because Nina’s 

aunt was getting married. 



40. What did Nina find after coming back from the 

 wedding? 

- When Nina came back after the wedding, she found 

two plump little sparrows flying all over the room. 

 

 

 

e¤je¡ fËnÀ¡hm£ (Ešl pq) 

a«a£u ­nËZ£ 

h¡wm¡ 

 

 

e£­Ql fË¢a¢V AdÉ¡­ul fË­nÀl j¡e 1 eðl z 

1zhÉ¡LlZ L¡­L h­m ? 

E:-hC ­b­L fs­h 

2zB¢cj j¡e¤o L£i¡­h j­el fËL¡n Lla ? 

E:-¢LR¥ BJu¡S h¡ Cn¡l¡l à¡l¡ 

3zh¡P¡¢m­cl j­dÉ fËbj h¡wm¡ hÉ¡LlZ hC ­L ­m­Me ? 

E:-l¡S¡ l¡j­j¡qe l¡u 

4z­L¡eÚ¢V p¡d¤i¡o¡ Bl  ­L¡eÚ¢V Q¢mai¡o¡ a¡ ­m­M¡ :- 

L)C¾cÊ q¡m d­l h¢pu¡­R z E:-p¡d¤ i¡o¡ 

M)L¡m Bj¡­cl h¡¢s H­p¡ z E:-Q¢ma i¡o¡ 

N)Q¡¢ol¡  j¡­W L¡S L¢l­a­R z E:-p¡d¤ i¡o¡ 

5zdÆ¢e J hZÑ-Hl f¡bÑLÉ ­m­M¡ z 

E:-hC ­b­L fs­h 

6zBe¤e¡¢pL h­ZÑl Ec¡qlZ c¡J z 

E:- P,U,Z,e,j 

e£­Ql në…¢ml hZÑ¢h­nÔoZ L­l¡ :- 

7zj¤¢nÑc¡h¡c =jÚ+lÚ+E+nÚ+C+hÚ+B+cÚ+A 

H­m¡­j­m¡ hZÑ…¢m­L p¡¢S­u p¢WL nëNWe L­l¡ :- 

8zl ¾cÊ h£ b e¡ L¥ l W¡ =lh£¾cÊe¡b W¡L¥l  

9zfc L¡­L h­m ?Ec¡qlZ c¡J z 

E:- hC ­b­L fs­h 

10zh¡­LÉl fËd¡e Awn L-¢V J L£ L£ ? 



E:- c¤¢V Awn z E­ŸnÉ J ¢h­du z 

e£­Ql në…¢m p¡¢S­u h¡LÉ NWe L­l¡:- 

11z ¢Rm aMe p¤¤¾cl A­eL  fª¢bh£ z 

aMe fª¢bh£ A­eL p¤¤¾cl ¢Rm z 

e£­Ql h¡LÉ…¢m­L E­ŸnÉ J ¢h­du Aw­n i¡N L­l ­cM¡J :- 

12z N¡­Rl L­uLV¡ X¡m ­i­P fsm z 

N¡­Rl L­uLV¡ X¡m =E­ŸnÉ, ­i­P fsm =¢h­du z 

­k¢V h¡LÉ a¡l f¡­n ¢VL ¢Qq² Bl ­k¢V h¡LÉ eu a¡l f¡­n L¡V¡ ¢Qq² c¡J z 

13z e¡ ¢Rm k¡eh¡qe ­L¡­e¡ =L¡V¡ 

14zfËbj f¤l¦o ­L­L h­m ? 

E:-hC ­b­L fs­h 

e£­Ql në…¢ml f¤l¦o ¢eZÑu L­l¡ :- 

15z B¢j, a¥C, l¡j 

¢hfl£a në ­m­M¡ :- 

16zSs =S£h 

17zk¤Ü -n¡¢¿¹ 

18zplp -e£lp 

pj¡bÑL në ­m­M¡ :- 

19z he=AV¢h, AlZÉ 

20z f¡q¡s=fhÑa, °nm 

21zc£OÑü­ll Ec¡qlZ c¡J z 

E:-(B,D,F,H,J) 

22zL,M,N,O,P HC hZÑ…¢ml EµQ¡lZ ÙÛ¡e ­L¡b¡u ? 

E:-L˜ 

23zq² -HC k¤š² h­ZÑl j­dÉ ­L¡e ­L¡e hZÑ B­R ? 

E:-qÚ+eÚ 

24zhZÑ…¢m­L S¥­s në °a¢l L­l¡:- 

nÚ+C+LÚ+oÚ+B=¢nr¡ 

25zEšjf¤l¦­ol Ec¡qlZ c¡J z 

E:- B¢j, Bjl¡ CaÉ¡¢c z 

p¢WL Ešl¢V ­h­R ¢e­u ­m­M¡ :- 

26zj¡e¤o qh¡l SeÉ ­Ny¡p¡C¢Sl L¡­R H­p¢Rm-HL¢V Ml­N¡n/HL¢V ­nu¡m/HL¢V ­eL­s h¡O 

E:-HL¢V ­nu¡m 

27z­nu¡m-pj¡­S ¢nh¤l¡­jl e¡j ¢Rm-­q±-­q±/­R±-­R±/­OE ­OE 

E:-­q±-­q± 

28z­i¡ðmc¡­pl l¡Spi¡l fËd¡ej¿£» q­me-hL/h¡O/­nu¡m 

E:-­nu¡m 

29z­i¡ðmc¡p­L °Lm¡p k¡œ¡l hÉhÙÛ¡ L­l ¢c­u¢Rm-hL/¢pwq/h¡O 



E:-hL 

30zM¤l h¤¢m­u ¢nh¤l¡­jl nl£­ll ­ly¡u¡ Qy¡Q­a pju ­m­N¢Rm-Q¡l¢ce/¢ae¢ce/fy¡Q¢ce  

E:-fy¡Q¢ce 

e£­Ql fËnÀ…¢ml kb¡kb Ešl c¡J :- (fË¢a¢V fË­nÀl j¡e-5) 

31z"pjÙ¹ ­nu¡m-pj¡S Ù¹¢ña z'-­Le pjÙ¹ ­nu¡m-pj¡S Ù¹¢ña q­u¢Rm ? 

E:-¢nh¤l¡j j¡e¤o q­a ¢N­u N¡­ul ­m¡j, ­mS ­L­V ­g­m¢Rmz a¡lg­m a¡l S¡ai¡Cl¡ 

a¡­L ¢Qe­a f¡l¢Rm e¡--HC pjÙ¹ ¢hou…¢m­L ­mM­Ll e¡jpq N­Òfl e¡jpq ¢mM­a q­h  

32z"a«a£uh¡l X¡­L ¢nh¤l¡j ­h¢l­u Bp­aC '--L¡l ­mM¡ ? ­L¡eÚ lQe¡l Awn ?L¡­cl 

X¡L ö­e ¢nh¤l¡j,­Le ­h¢l­u H­p¢Rm ? 

E:-lh£¾cÊe¡b W¡L¥l z ¢nh¤l¡j z S¡ai¡C­cl, a¡­cl p¡­b A­eL¢ce f­l ­cM¡ q­h h­m z 

33z"S£h­e ­i¡ðmc¡p HC HL i¥m Ll­me'--­i¡ðmc¡p L£ i¥m Ll­me ?Bl Hlg­m ­p 

L£i¡­h Së q­me ? 

E:-¢fyf­s­cl p¡­b ms¡C Ll¡lV¡ a¡l i¥m L¡S q­u­R zBl ms¡C Ll¡l g­m ­p Ap¤¤ÙÛ 

q­u k¡Ju¡l OVe¡l Lb¡ hm­a q­h z 

34z"­i¡ðmc¡p­L a¡l¡ i¡h­m l¡¢e z'-L¡l¡, ­Le ­i¡ðmc¡p­L l¡¢e ­i­h¢Rm ?L¡­LC h¡ 

a¡l¡ l¡S¡ ­i­h¢Rm ? 

E:-f¡s¡­Ny­u S¡­e¡u¡ll¡,L¡lZ a¡l¡ Hl B­N ­L¡­e¡¢ce ­c­M ¢e zHR¡s¡ l¡jR¡N­ml X¥¢ml 

j­dÉ b¡L¡l SeÉ Hje i¡h¡ q­u¢Rm ,­nu¡m f¢™a­L a¡l¡ l¡S¡ ­i­h¢Rm z 

35z"c§­ll f¡õ¡' L¢ha¡¢Vl j§mi¡h ­m­M¡ z 

E:-c§­ll f¡õ¡ L¢ha¢V L¢hl e¡jpq NcÉ BL¡­l ¢mM­a q­h z 

36z"H­p­R nlv, ¢q­jl fln' L¢ha¡¢Vl j§mi¡h ­m­M¡ z 

n§eÉÙÛ¡e f§lZ L­l¡ :- 

37z­k¢c­L a¡L¡C ------- B­m¡u 

38z­c¢M-­k R¥¢Vl ------- 

39z------ g¥­ml h­e J­W JC 

40zf§S¡l ¢c­el ------ 

 

 

 

 

  

 

 

 

 

 



SATISH CHANDRA MEMORIAL SCHOOL  

MID TERM MODEL QUESTION PAPER 2019- 2020 

SUB- E.V.S               CLASS- III                 F.M 80 

 

SECTION A 

Q.A Multiple choice question. 

1. Medicine that is used to kill pests is known as pesticides. 

a) pesticides    b) peticide    c) medicine   d) none of them 

2.Ghee and butter are example  of fats. 

a)Vitamins       b) minerals     c) fats     d) Carbohydrates 

3. Newspaper is a mass communication. 

a) one to one    b) mass     c) individual    d) none of them 

4. Plants need carbon dioxide gas for photosynthesis.  

a) oxygen     b) air      c) carbon dioxide      d) none of them 

5. Appuwas the name of the elephant.  

a) Tappu      b) Pappu     c) Nappu      d) Appu 

6. Ship is an example of water transport.  

a) Land      b) Water     c) Air    d ) none of them 

7. Something that is used to transport  people and goods from one place to another is known as vehicle.  

a)Transport     b).travel     c) vehicle       d) none of them 

8. Doctor treat patient. 

a) Teacher       b) Nurse      c) Doctor       d) Farmer 

9. Permanent house is made up of cement. 

a) kutcha      b) hut       c) permanent        d) none of them 

10. Bird’s body is divided into 3 parts. 



a) 4           b) 3         c) 5       d) 6 

Q B Fill in the blanks. 

11.  Duck has broad and flat beak. 

12.  Neem leaves help to make medicines. 

13.Tractor helps farmer to plough  their field before growing crops. 

14. Another name of kutcha house is temporaryhouse. 

15.Hummingbird suck nectar from flowers. 

Q.C Answer in one word or one sentences. 

16. Write full form of PCO. 

AnsPublic Call Office. 

17.When people are sick ,they are taken to hospital  in which vehicle ? 

Ans Ambulance  

18. Birds are belong to which family? 

Ans Birds are belong to the family of animals that can fly. 

19. Give any one example of steam food. 

AnsMomo 

20. Name any one vehicle with 3 wheels 

AnsAuto Rickshaw 

SECTION B 

Q.Q.Shortquestion answer  

21.  Draw tongue and write its uses. 

AnsDrawn  in C/W 

 Uses – a) Tounge helps to take the taste of the food item. 

22. Draw 2 example of minerals 

AnsDrawn in C/W 



23. Write difference between  Permanent house and Temporary house. 

AnsGiven in C/W 

24. What does the choice of transport depend on? Name any 2 example of land transport. 

Ans The choice of transport depend on 2 factors –  

a) The distance to be travelled. 

b) The cost of travel. 

The 2 example of land transport are Cars and trucks. 

25. Chhutki a four months old new born baby. She only takes her mother's milk why? 

AnsAccording to the diet chart a new born baby has to take only mother's milk upto6 months of his / her 

age. As Chhutkiis just 4 months old baby somother's milk is the only food for her. 

26.  a) Creepers can't climb like climber. What is the reason behind it? 

       b) Draw any one example of shrubs. 

Ansa) Creepers also has weak stem like climber but it can’t take support to climb like climber due to its 

heavy fruit.  

b)Drawn in activity book. 

27. Chhotu invited Monu to live with him in the pipe. According to you what may be the reason? 

AnsAnswer is given in E.V.S C/W 

28.Explain any 2 methods of cooking. 

AnsAnswer is given in E.V.S C/W 

29. Write work of following people- 

a)  Gardener  b) Mechanic  c) Sweeper 

Ans a) To clean the garden and to take care of plants. 

b)To repair cars and scooters. 

c) To sweep the street or stations. 

30. Draw any 3 road sign. 

AnsDrawn in E.V.S C/W 

 



SECTION C 

31a) Draw diagram of a bird and label it. 

b)Explain Migratory bird. 

AnsDiagram and explaination is given in E.V.S C/W. 

32 a) Write any 3 work which you do to keep your house clean. 

b)Being a child what can you do to decorate your house? 

Ans  a) Answer is given in E.V.S C/W 

b)Being a child I can decorate my house with flowers ,leaves, balloons  and paper crafts. 

33  Draw diagram of Rain water harvesting and explain it. 

Ans Answer is given in E.V.S C/W  

34.Write importance of tree plantation and draw any one tree. (activity based). 

AnsAnswer is given in Activity no.5 

35 a)Difference between  Nuclear family and Joint family. 

b)Name 4 things which is used to make a hut. 

Ansa) Answer is given in E.V.S C/W 

 b)Mud , bamboo , straw , dried leaves 

36. a)Why do birds build nest?  

b)Write any 4 things which birds use to make a nest. 

c)What we call to the young one of bird? 

Ans a) Answer is given in E.V.S  C/W.  

b)Birds use straw, leaves, cotton , twigs to make a nest. 

 We call chick to the young one of the bird. 

 

 

 

 

 



 

SATISH CHANDRA MEMORIAL SCHOOL 

Model question on Maths for Mid term 

class III 

1. Write the in the ascending order:  

a. 85, 28, 350, 309, 402 

b. 313, 316, 139, 146, 420 

2. Write the number in the descending order 

a. 349, 236, 464, 324, 405 

b. 892, 675, 869, 627, 726 

3. Write the place value of 4 in each of the following  

a. 482 

b. 749 

4. Write the number in words; 

a. 14239 

b. 2049 

5. Fill in the blanks:  

a. The place value of 4 in 435 is _______________ 

b. The smallest number of five digit is___________ 

c. 27000+1000 =____________________________ 

d. The greatest four-digit number made by using the digit 9, 4, 2, 4 is ___________ 

e. The short form of 5 x 100 + 4 x 10 + 2 is ___________ 

6.  Fill in the blanks 

a. 3 km = ______m. 

b. 2 kg= _______g 

7. On her birthday of his daughter Srikant collected 7L 700 ml and 5L450 ml of milk from two dairy 



Farms. How much milk did the collect? (13 L 150ml) 

8. Harry obtained 95 marks in Math, 90 marks in English, and 92 marks in Science. How many total 

marks did he obtain in all subjects? (C) 

a. 216 b.122. c.277 d. 196 

9. There were 550 passengers on a train. At the next stop, 289 passengers got off. How many passengers 

are there on the train now? 

a.200 b.139 c.300 d.261  (d) 

10. There are 522 birds sitting on a tree. If 129 birds fly away, how many birds will be there on the tree? 

a.393 b.239 c. 395 d. 435 (a) 

11. A city has 3 zoos. The first zoo has 213 animals, the second zoo has 68 animals and the third zoo has 

177 animals. How many animals do all the zoos have in total? (c) 

a. 678 b. 546 c. 458 d.980 

12. Some deer families are also moving out to avoid the shortage of grass that will result from the snow. 

If there are 79 deer families in the area and 45 of them stayed, how many deer families moved out? 

a. 43 b.17 c. 34 d.45    (c.) 

13. At the end of the cave, they found a golden chest. If the chest contains 421 diamonds and 377 

rubies, how many more diamonds are there than rubies? 

a.44 b.55 c.66 d. 11 (a) 

14. There are 1485 travelers in a train. Out of these there are 758 female travelers. How many male 

travelers are there in the train? 

a.871 b.727 c. 527 d.877 (b) 

15. On a day 15000 people were expected to watch a cricket match but only 12850 persons came. How 

many persons did not come? 

a.1200 b.2150 c.4530 d.1989 (d) 

16. Sony and Richa went to market to buy some vegetables. Sony bought vegetables worth Rs. 86 and 

Richa bought vegetables worth Rs. 72. How much they spent all together. 

a.128 b.232 c.89 d.158 (b) 

17.  How many triangles are there in this diagram?  



 

 

 

18. 2km 455 m = ………………m 

19. 10m 85cm = ………………cm 

20. 55m+25m+20m= …………..m 

21.  400m+302m+75m= ………….m 

22. 99cm-47cm = …………..cm 

23. 404m-54m = …………….m 

24. 3000m =………………….km 

25. 8139m =…………km……………m 

26. 61km755m+7km613m=............km…………………..m 

27. 97km80m-74km10m =…………km………..m 

28. From a role of plastic pipe which is 85m70 cm long, two Lengths  measuring 15m 32 cm and 38m97 

cm are cut off.  How much pipe is left? (31 m 41cm) 

29. The distance between two towns is 682 km 800m. A bus has covered 391km 282m distance. How 

much distance is left to be covered? (291km 518m) 

30. Reena walked 2km 500m on Monday 3 km on Tuesday and 5 km 100m on Wednesday. What was the 

total distance walked by her in 3 days? (10km 600m) 

32. Draw a cone and label it. 

33. All the faces of a ________are square ? 

a) Cuboid  

b) Cone  

c) Cube 

d) Sphere 

34. A cylinder has __________corners? 

a) 0 



b) 1 

c) 2 

d) 3 

35. A __________is bonded by three line segments ? 

a) Triangle  

b) Rectangle 

c) Cone  

d) Circle 

36. A cube has ______faces, ____vertices and ______ Edges? 

a) 8 faces, 6 vertices and 12 edges 

b) 6 faces, 8 vertices and 12 edges 

c) 12 faces, 6 vertices and 8 edges 

d) 6 faces, 12 vertices and 8 edges 

37. 22 more than 50 ________.? 

a) 72 

b) 38 

c) 28 

d) 70 

38. Solve the following  

(7643 + 3214)-678 = 

a) 10197 

b) 10179 

c) 10180 

d) 10280 

39. Convert 3000 g into kg ? 



a) 3kg 

b) 300kg 

c) 30 kg 

d) 0.3 kg 

40. Patterns in numbers: 

45, 50, 55, __, __., __.? 

a) 65, 75,85 

b) 60, 65,75 

c) 60, 65,70 

d) 60, 70,80 

  

MODEL QUESTIONS PAPER,CLASS-III (HINDI) 

1. oÉŠÉ xÉÔUeÉ MüÐ iÉUWû YrÉÉ MüUlÉÉ cÉÉWûiÉ Wæû ? 

E¨ÉU-oÉŠÉ xÉÔUeÉ MüÐ iÉUWû AÉxÉqÉÉlÉ qÉåÇ SÉæÄQû sÉaÉÉlÉÉ cÉÉWûiÉÉ Wæû | 

2. oÉŠÉ cÉÇSÉ oÉlÉMüU YrÉÉ MüUlÉÉ cÉÉWûiÉÉ Wæû ? 

E¨ÉU-oÉŠÉ cÉÇSÉ oÉlÉMüU xÉoÉ iÉÉUÉåÇ mÉU AMüÄQû ÌSZÉÉlÉÉ cÉÉWûiÉÉ Wæû | 

3. oÉŠÉ MüÉårÉsÉ oÉlÉMüU YrÉÉ MüUlÉÉ cÉÉWûiÉÉ Wæû ? 

E¨ÉU-oÉŠÉ MüÉårÉsÉ oÉlÉMüU qÉÏPåû-qÉÏPåû oÉÉåsÉ xÉÑlÉÉlÉÉ cÉÉWûiÉÉ Wæû | 

4. oÉŠÉ YrÉÉ oÉlÉMüU bÉU qÉåÇ xÉoÉ mÉU kÉÉæÇxÉ eÉqÉÉlÉÉ cÉÉWûiÉÉ Wæû ? 

E¨ÉU-oÉŠÉ oÉÉoÉÉ oÉlÉMüU bÉU qÉåÇ xÉoÉ mÉU kÉÉæÇxÉ eÉqÉÉlÉÉ cÉÉWûiÉÉ Wæû | 

5. oÉŠÉ MæüxÉå mÉÏsÉÏ-sÉÉsÉ mÉiÉÇaÉ EÄQûÉLÆaÉÉ ? 

E¨ÉU-oÉŠÉ cÉZÉÏï sÉåMüU mÉÏsÉÏ-sÉÉsÉ mÉiÉÇaÉ EÄQûÉLÆaÉÉ | 

6. ÌMüxÉÉlÉ MüÐ oÉÏuÉÏ MüÉ YrÉÉ lÉÉqÉ jÉÉ ? 

E¨ÉU-ÌMüxÉÉlÉ MüÐ oÉÏuÉÏ MüÉ lÉÉqÉ ÌoÉ¨ÉÉå jÉÉ | 

7. ÌoÉ¨ÉÉå MüÉå AmÉlÉå mÉÌiÉ mÉU YrÉÉåÇ aÉÑxxÉÉ AÉrÉÉ ? 

E¨ÉU-ÌoÉ¨ÉÉå MüÉå AmÉlÉå mÉÌiÉ mÉU CxÉÍsÉL aÉÑxxÉÉ AÉrÉÉ YrÉÉåÇÌMü uÉWû zÉåU Måü ZÉÉlÉå Måü ÍsÉL bÉU MüÐ aÉÉrÉ sÉålÉå AÉrÉÉ 

jÉÉ | 

8. zÉåU lÉå WûÉjÉ qÉåÇ SUÉðiÉÏ ÍsÉL bÉÑÄQûxÉuÉÉU ÌoÉ¨ÉÉå MüÉå YrÉÉ xÉqÉfÉ ÍsÉrÉÉ ? 

E¨ÉU-zÉåU lÉå WûÉjÉ qÉåÇ SUÉðiÉÏ ÍsÉL bÉÑÄQûxÉuÉÉU ÌoÉ¨ÉÉå MüÉå UÉ¤ÉxÉÏ xÉqÉfÉ ÍsÉrÉÉ | 

9. ÌoÉ¨ÉÉå MüÉå SåZÉ zÉåU YrÉÉåÇ pÉÉaÉ ZÉÄQûÉ WÒûAÉ ? 

E¨ÉU-ÌoÉ¨ÉÉå MüÉå UÉ¤ÉxÉÏ xÉqÉfÉMüU zÉåU pÉÉaÉ ZÉÄQûÉ WÒûAÉ ? 

10. ÌoÉ¨ÉÉå MüÉå oÉWûÉSÒU MüWûlÉÉ MüWûÉð iÉMü EÍcÉiÉ Wæû ? 



E¨ÉU-ÌoÉ¨ÉÉå MüÉå oÉWûÉSÒU MüWûlÉÉ mÉÔUÏ iÉUWû EÍcÉiÉ Wæû YrÉÉåÇÌMü ÌoÉ¨ÉÉå lÉå zÉåU MüÉå LMü oÉÉU lÉWûÏÇ oÉÎsMü SÉå-SÉå oÉÉU qÉÉU 

pÉaÉÉrÉÉ | 

11. YrÉÉ iÉÑqWåÇû OûÏ uÉÏ SåZÉlÉå mÉU OûÉåMüÉ eÉÉiÉÉ Wæû ? 

    WûÉð (   )      lÉWûÏÇ (   ) 

12. YrÉÉ iÉÑqWåÇû ZÉåsÉlÉå mÉU OûÉåMüÉ eÉÉiÉÉ Wæû ? 

E¨ÉU- WûÉð (   )     lÉWûÏÇ (   ) 

13. xÉÔUeÉ MüÉå YrÉÉ MüUlÉå xÉå qÉlÉÉ lÉWûÏÇ MüU xÉMüiÉå Wæû ? 

E¨ÉU-xÉÔUeÉ MüÉå kÉÔmÉ TæüsÉÉlÉå xÉå qÉlÉÉ lÉWûÏÇ MüU xÉMüiÉå | 

14. oÉÉSsÉ MüÉå YrÉÉ oÉUxÉÉlÉå xÉå qÉlÉÉ lÉWûÏÇ MüU xÉMüiÉå ? 

E¨ÉU-oÉÉSsÉ MüÉå eÉsÉkÉÉU oÉUxÉÉlÉå  xÉå qÉlÉÉ lÉWûÏÇ MüU xÉMüiÉå | 

15. "WûqÉxÉå xÉoÉ MüWûiÉå" MüÌuÉiÉÉ qÉåÇ oÉŠÉ YrÉÉ MüUlÉÉ cÉÉWûiÉÉ Wæû ? 

E¨ÉU-"WûqÉxÉå xÉoÉ MüWûiÉå" MüÌuÉiÉÉ qÉåÇ oÉŠÉ oÉÄQûÉåÇ MüÐ iÉUWû WÒûYqÉ LuÉÇ QûÉðOû sÉaÉÉlÉÉ cÉÉWûiÉÉ Wæû | 

16. oÉÑÌÄRûrÉÉ lÉå fÉÉåmÉÄQûÏ xÉå OûmÉMülÉå uÉÉsÉÏ oÉÉËUzÉ MüÐ oÉÔðSÉåÇ MüÉå YrÉÉ MüWûÉ ? 

E¨ÉU-ÌOûmÉÌOûmÉuÉÉ 

17. oÉÉbÉ YrÉÉåÇ pÉÉaÉ aÉrÉÉ ? 

E¨ÉU-oÉÉbÉ CxÉÍsÉL pÉÉaÉ aÉrÉÉ YrÉÉåÇÌMü ExÉå sÉaÉÉ ÌMü ÌOûmÉÌOûmÉuÉÉ ExÉxÉå pÉÏ ÄZÉiÉUlÉÉMü eÉÉlÉuÉU Wæû | 

18. kÉÉåoÉÏ YrÉÉåÇ mÉUåzÉÉlÉ jÉÉ ? 

E¨ÉU-kÉÉåoÉÏ CxÉÍsÉL mÉUåzÉÉlÉ jÉÉ YrÉÉåÇÌMü ExÉMüÉ aÉkÉÉ xÉÑoÉWû xÉå aÉÉrÉoÉ jÉÉ | 

19. kÉÉåoÉÏ MüÉå ÌOûmÉÌOûmÉuÉÉ xÉqÉfÉMüU oÉÉbÉ lÉå YrÉÉ ÌMürÉÉ ? 

E¨ÉU-kÉÉåoÉÏ MüÉå ÌOûmÉÌOûmÉuÉÉ xÉqÉfÉMüU oÉÉbÉ ExÉMåü xÉÉjÉ cÉÑmÉcÉÉmÉ cÉsÉ mÉÄQûÉ | 

20. sÉÉåaÉ YrÉÉ SåZÉMüU WæûUlÉ WûÉå UWåû jÉå ? 

E¨ÉU-sÉÉåaÉ kÉÉåoÉÏ Måü bÉU oÉÉbÉ MüÉå ZÉÔðOåû xÉå oÉðkÉÉ SåZÉMüU WæûUÉlÉ WûÉå UWåû jÉå | 

  

21. "pÉÉwÉÉ" MüÐ mÉËUpÉÉwÉÉ ESÉWûUhÉ Måü xÉÉjÉ xÉqÉfÉÉAÉå- 

E¨ÉU-AmÉlÉÏ pÉÉuÉÉåÇ LuÉÇ ÌuÉcÉÉUÉåÇ MüÉå urÉYiÉ MüUlÉå Måü qÉÉkrÉqÉ MüÉå pÉÉwÉÉ MüWûiÉå Wæû | 

ESWûUhÉ-ÌWûlSÏ, AÇÄaÉëåeÉÏ, oÉÉðasÉÉ AÉÌS | 

22. ÍsÉÌmÉ ÌMüxÉå MüWûiÉå Wæû ? 

E¨ÉU- pÉÉwÉÉ MüÉå ÍsÉZÉlÉå Måü ÍsÉL ÍsÉÌmÉ MüÉ mÉërÉÉåaÉ WûÉåiÉÉ Wæû | 

23. pÉÉwÉÉ                  ÍsÉÌmÉ 

    ÌWûlSÏ           -     SåuÉlÉÉaÉUÏ 

    AÇaÉëåÄeÉÏ         -      UÉåqÉlÉ 

    ESÕï            -      ÄTüÉUxÉÏ 

    oÉÉÇasÉÉ         -      oÉÇaÉÉsÉÏ 

    mÉÇeÉÉoÉÏ        -       aÉÑÂqÉÑZÉÏ 

24. WûqÉ urÉÉMüUhÉ YrÉÉåÇ xÉÏZÉiÉå WæÇû ? 

E¨ÉU-pÉÉwÉÉ MüÉå xÉWûÏ ÌlÉrÉqÉ AlÉÑxÉÉU xÉÏZÉlÉå MüÐ ÌuÉSèrÉÉ MüÉå urÉÉMüUhÉ MüWûiÉå WæÇû | 

25. uÉiÉïlÉÏ YrÉÉ Wæû ? 

E¨ÉU-kuÉÌlÉrÉÉåÇ MüÉå xÉWûÏ ¢üqÉ qÉåÇ ÍsÉZÉlÉÉ WûÏ zÉoS MüÐ uÉiÉïlÉÏ WæÇû | 



26. pÉÉwÉÉ Måü SÉå ÃmÉ YrÉÉ Wæû ? 

E¨ÉU-qÉÉæÎZÉMü 

      ÍsÉÎZÉiÉ 

27. xÉÇ¥ÉÉ ÌMüxÉå MüWûiÉå ? 

E¨ÉU-ÌMüxÉÏ mÉëÉhÉÏ, uÉxiÉÑ, xjÉÉlÉ, pÉÉuÉ AÉÌS Måü lÉÉqÉ MüÉå xÉÇ¥ÉÉ MüWûiÉå WæÇû | 

ESÉWûUhÉ-AzÉÉåMü, ÌMüiÉÉoÉ, ÌSssÉÏ, AcNûÉD AÉÌS | 

28. 5-5 mÉåÄQûÉåÇ Måü lÉÉqÉ ÍsÉZÉÉå - 

  aÉÑsÉqÉÉåWûU, ..........., ..........., ........., ......... | 

29. 5-5 zÉWûUÉåÇ Måü lÉÉqÉ ÍsÉZÉÉå - 

  qÉÑÇoÉD, .........., .........., .........., .......... | 

30. 5-5 ÍqÉ§ÉÉåÇ Måü lÉÉqÉ ÍsÉZÉÉå - 

  lÉÏUeÉ, ..........., ............, ..........., ........... | 

31. xÉÇ¥ÉÉ zÉoSÉåÇ MüÉå cÉÑlÉÉå- 

  qÉWûÉiqÉÉ aÉÉðkÉÏ, oÉÄQûÉ, ÌWûUlÉ, aÉÉrÉMü, xÉÑlSU, qÉÇÌSU, NûiÉ, SÉæÄQûlÉÉ, oÉÑSèkÉÔ, oÉcÉmÉlÉ ............ | 

E¨ÉU-xÉÇ¥ÉÉ zÉoS:- qÉWûÉiqÉÉ aÉÉðkÉÏ, ÌWûUlÉ ............ (xuÉrÉÇ MüUÉå) 

32. xÉuÉïlÉÉqÉ ÌMüxÉå MüWûiÉå Wæû ? ESÉWûUhÉ Måü xÉÉjÉ xÉqÉfÉÉAÉå | 

E¨ÉU-eÉÉå zÉoS xÉpÉÏ lÉÉqÉÉåÇ (xÉÇ¥ÉÉAÉåÇ) MüÐ eÉaÉWû AÉiÉå WæÇû, uÉå xÉuÉïlÉÉqÉ MüWûsÉÉiÉå WæÇû | 

ESÉWûUhÉ-qÉæÇ, iÉÑqÉ, uÉWû ...... AÉÌS | 

33. ÍsÉÇaÉ Måü pÉåS oÉiÉÉAÉå | 

E¨ÉU-mÉÑÎssÉÇaÉ 

      x§ÉÏÍsÉÇaÉ 

34. mÉËUpÉÉwÉÉ 

 mÉÑÎssÉÇaÉ-mÉÑÂwÉ eÉÉÌiÉ MüÉ oÉÉåkÉ MüUÉlÉåuÉÉsÉå zÉoS |   

 x§ÉÏÍsÉÇaÉ-x§ÉÏ eÉÉÌiÉ MüÉ oÉÉåkÉ MüUÉlÉåuÉÉsÉå zÉoS | 

35. mÉÑÎssÉÇaÉ LuÉÇ x§ÉÏÍsÉÇaÉ zÉoSÉåÇ MüÉå AsÉaÉ-AsÉaÉ NûÉðOûMüU ÍsÉZÉÉåÇ | 

 ÌWûqÉÉsÉrÉ, aÉÇaÉÉ, ÎZÉÄQûMüÐ, SUuÉÉeÉÉ, sÉQèQÕû, eÉsÉåoÉÏ ........ | 

E¨ÉU-mÉÑÎssÉÇaÉ-ÌWûqÉÉsÉrÉ, SUuÉÉeÉÉ, sÉQèQÕû ..... |   

      x§ÉÏÍsÉÇaÉ-aÉÇaÉÉ, ÎZÉÄQûMüÐ, eÉsÉåoÉÏ ..... | 

36. ÍsÉÇaÉ oÉSsÉÉå- 

E¨ÉU-sÉåZÉMü-sÉåÎZÉMüÉ 

      bÉÉåÄQûÉ-bÉÉåÄQûÏ 

      qÉÄeÉSÕU-qÉÄeÉSÕËUlÉ 

      qÉÉsÉÏ-qÉÉÍsÉlÉ 

      mÉWûÉÄQû-mÉWûÉÄQûÏ 

37. uÉcÉlÉ Måü SÉå mÉëMüÉU YrÉÉ WæÇû ? 

E¨ÉL-LMüuÉcÉlÉ 

      oÉWÒûuÉcÉlÉ 

38. mÉËUpÉÉwÉÉ ÍsÉZÉÉå- 



E¨ÉU-LMüuÉcÉlÉ-ÌMüxÉÏ cÉÏÄeÉ Måü LMü WûÉålÉå Måü oÉÉUå qÉåÇ oÉiÉÉiÉå Wæû | 

      oÉWÒûuÉcÉlÉ-ÌMüxÉÏ cÉÏÄeÉ Måü LMü xÉå AÍkÉMü WûÉålÉå Måü oÉÉUå qÉåÇ oÉiÉÉiÉå WæÇû |  

39. uÉcÉlÉ oÉSsÉÉå- 

E¨ÉU-iÉÉUÉ-iÉÉUå 

      AÉSiÉ-AÉSiÉåÇ 

      iÉÌMürÉÉ-iÉÌMüL 

      oÉÉsOûÏ-oÉÉÎsOûrÉÉð 

      SuÉÉD-SuÉÉCrÉÉð 

40. LMüuÉcÉlÉ LuÉÇ oÉWÒûuÉcÉlÉ uÉaÉï qÉåÇ AsÉaÉ-AsÉaÉ MüUMåü NûÉðOûÉåÇ- 

    AÉÆxÉÔ, pÉÏÄQû, sÉÉåaÉ, eÉlÉiÉÉ ...... | 

E¨ÉU-LMüuÉcÉlÉ-pÉÏÄQû, eÉlÉiÉÉ ..... | 

      oÉWÒûuÉcÉlÉ-AÉÆxÉÔ, sÉÉåaÉ ..... | 

  

  

  

  

 

 

 

 

 

 

 


